ooooi1go 19

41 OJ0000oooood

O00000o0oOoooOogood (vectonOOO.000000D0O00DOODOO
000000 eO0O0O0O0ODO,000000000D0DO00O0 3000000003
O00.0000 @b00000000 a;,bi(i=1~3)0000,a,b000 (inner
product, scalar produci) O O (outer product, vector produd), 0 OO0 O00OO
000000000000 000000000000000000.

a-b=ab;, =|al-|b|cosb, 4.2)
axb= (Efujaibj,é‘gijaibj, €3Z'jaibj> = \aHb\ sin @ - €. (42)
000 ebdddd e, b0000,e, 0 0000 @,b0000000O0OOOO

Ooooooo,00oob e00 b00000000000000000. g%
gobbobooogbobobog,bbbuooobobod.

v 7 k| ek
1 2 3|1
2 3 11
31 2 1
1 3 2| -1
3 2 1| -1
2 1 3| -1
0

Q) o00D0DD000 @,b0000,axb=-bxaea0000000,

DO000000 e,b0000,a-(bxc)=b-(cxa)=c-(axb)000
00000 (@o00 300).

30000000 e,b0000,ax(bxe)=b-(cra)—c-(a-b)000O0O
0oo0o(@ooo 300).

4 000030000000 3000000000000 OOO.

lDoooo20000000000000000000000,00000.
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a=a(t)=(a(t),as(t),a3(t)) 000. 00000000 «0000000000O
oooooo.

da _ ., tth) —alt) _ (da day dag
dt — h>0 C\dtdt’dt )’
00DoOo000ooooooon.
1)
d da db
(2)
d da db
3)
d db
a(axb):d—axb~|—ax%
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1) 000000000000 0DOD0000 eg,eq,e3, 00000OO0OOO0
00000 e,,eye,000.0000

de}

dt

de,
dt

dej
dt

=w X €], =w X e, =0,

O0000000.000 w=we;000.

(2) 000000 r=zoe; +yes+zeg=2'e] +ye, +2Zes =" 0000000
gobbooogogbood.

ERERE

!

dr do , dy , di ,
A a et et e
d2’,r dzl’, ) dly/ . dZZ/ .
az - ap Ot g et e s

gobbobuoooobobobooan.

(3) 0000000000
dr

de2
000000000000,
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00 z,y,2000 f=f(z,y,2)00000000,0 (z,y,2) 0000 fO0O0O
(gradientiD 00O OO0OODOOODO.

af  of  of

gradf = %eﬁ @ey + 9

e.. 4.3)

000 e 0000000000000 .grad000000O0DO, 0000000
Ooooo0.@d3)0ooooooooo

V:e g_‘_e g_{_eg
) Yoy “0z
ogoooo
gradf =V f
goooog.

(1) 000 POOOOOOODOO 000000 QOOD.0POOQOIOOMO
00000 f0000000000O0,0000PQOOPOOOO VOO
000000000000 @O00: 0000 PQO dr = e,da+e,dy+e.dz
ooooo).

() VfO f=0000(QO00000000)00000000000
(3) ¢0 f00D00DOODO0OOOOO0OOD,00000000000000O.
000 ,f00000000.

(i) V(af+pPBg)=aVf+pVyg (i) V(fg)=9Vf+fVyg

(i) v(?)zw W) Vit =vy
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(1) 000 2000000000 (2,9) 0000000000 f= f(z,y) 000
O,gradf 000,000 f=00000000000.000,r =22+ 42
ooo.

2

() f=- () f=2 (i) f=ay (v) f=1+05

(2000000 r =ze,+ye,+2e,0000,0000000000000
0.000r=r/000.

() Vr=" (i) Vi) =5 (i) VO)=-% (v) Vir=1
(3) 30000000 Pla,y,2) 000000000 Q +du,y +dy, 2 +dz) O
O0.PQUODODOOOOOOO w=(,mn)00000,000000
of flz+1As,y + mAs, z + nAs) — f(z,y, z)

% = Al}sIEO As

Of0.0000000.000 AsOO0D0O0OPQUODOOOD.DOOO
gobooobogd.

i G- @ |§<wn

ou ou
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